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1 BEh 99 928 -0.8 -0.8 3.9 -3.9 - — - - 10.0 10.0 90.0

2 = 99 925 -3.0 -4.2 -2.0 -5.1 - — - - 31.0 41.0 120.0

3 = 98 926 -3.4 -3.7 -1.6 -4.7 - — - - 30.0 71.0 110.0

4 = 98 926 -3.7 -4.8 -3.1 -5.4 - — - - 30.0 101.0 120.0

5 = 98 926 -3.9 -4.4 -2.9 -5.4 - — - - 45.0 146.0 140.0

6 = 99 926 -3.8 -5.9 -0.8 -11.4 - — - - 30.0 176.0 150.0

7 Bhn 95 926 -9.1 -4.8 2.3 -9.1 - — - - 1.0 177.0 130.0

8 BEh 97 924 -5.9 -3.2 0.8 -7.1 - — - - 0.0 177.0 113.0

9 {£Y 99 928 -1.1 0.3 5.5 -5.0 - — - - 0.0 177.0 110.0

10 S 98 923 -4.8 -4.4 —0.2 -5.0 - - - - 28.0 205.0 120.0
LEFEHE 98.0 925.8 -4.0 -3.6 0.2 —6.2 - - - - 20.5 120.3
11 <EY 99 926 —0.1 -4.6 35 -11.4 - — - = 15.0 220.0 110.0

12 RIS 95 928 -9.0 -2.6 7.6 -9.1 - — - - 0.0 220.0 105.0

13 R B 95 929 -5.9 0.7 6.0 -6.8 - — - - 0.0 220.0 100.0

14 {£Y 99 925 15 1.2 4.6 0.4 - — - - 0.0 220.0 95.0

15 <Y 99 922 1.4 0.1 3.8 -0.4 - — - - 0.0 220.0 90.0

16 ES 99 921 0.0 -2.9 0.4 -3.9 - — - - 5.0 225.0 80.0

17 Eh 96 922 -3.4 -4.8 1.7 -8.1 - — - - 0.5 2255 80.0

18 S 95 920 -3.2 -1.0 0.7 -8.1 - — - - 0.0 225.5 80.0

19 Eh 93 924 -6.4 -3.9 47 -8.7 - - - - 0.0 2255 75.0

20 Ei 95 923 -7.0 -0.4 7.3 -8.7 - - - - 0.0 2255 74.0
haEHiE 96.5 924.0 -3.2 -1.8 4.0 -6.5 - — - — 2.1 88.9
21 S 98 922 -4.7 -5.0 2.2 —11.1 - — - - 20.0 2455 90.0

22 Eh 97 922 —6.1 —4.1 0.8 -8.4 - - - - 2.0 2475 90.0

23 {£Y 91 926 -4.9 -4.0 4.3 -4.9 - — - - 0.0 247.5 75.0

24 <3y 92 922 -15 -9.9 3.8 -10.7 - - - - 0.0 2475 75.0

25 S 93 920 -11.7 -95 -5.4 -11.7 - — - - 25.0 272.5 90.0

26 = 98 921 -5.5 -5.1 -1.3 -8.5 - — - - 42.0 3145 110.0

27 {£Y 96 921 -75 -4.8 -2.1 -9.2 - — - - 20.0 334.5 120.0

28 = 97 920 —6.7 -9.7 -5.8 -10.4 - — - - 9.0 343.5 120.0

29 S 96 920 -7.2 -6.0 -1.6 -14.9 - — - - 10.0 353.5 120.0

30 BEh 93 920 -12.5 -5.5 1.2 -12.6 - — - - 0.0 353.5 110.0

31 = 98 920 -5.5 -9.6 -2.7 -13.1 - - - - 35.0 388.5 130.0
THFEHIE 95.4 921.3 —6.7 -6.7 -1.0 -10.5 - — - — 14.8 102.7
A ¥ 96.6 923.6 -4.7 -4 1 1.0 -7.8 - - - - 12.5 103.9
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